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Q.18. A clock is set right at 4 am. The clock loses Q.18. Wwﬁ“ﬁquﬁm
20 min. in 24 hours. What will be the correct ST 81 24 We ® ud 20 e D @ wrdt

time when the clock indicates 3 am. on leaﬁﬁﬂmwsﬁwwmﬁ“
fourth day?

a. 3:59am.

¢ i

c. S5am.

d. None of these.
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Q.19. A watch which gains uniformly is 2 min. Q.19. U® 3! &l UHUH ST ¥ d §idl ¢ 98
slow at noon on Monday, and is 4 min. 48 HIHAR &1 12 ﬁm it o, 3R

seconds fast at 2 pm on the following Monday, 37T&l HIHAR GIUsT 2 99 &1 4 e 48 ST

when was it correct ? Elﬂﬂwmmmm
a. 2 pm.on Tuesday a. HITAAR &1 2 a9 W&
b. 2 pm. on Wednesday b.WﬁZﬁm
c. 3 pm.on Thursday c. TeIdaR &1 3 T JWE

d. 1 pm. on Friday d.WﬁIﬁm







Q.21. A watch loses 2 minutes in every 24 hours while Q.21. T% U3l Ual® 24 42 # 2 firre iR 81 ot @ wraf
the other watch gains 2 minutes in 24 hours. At a wmwmuq&ﬂzmmﬂmtuw

particular instant, the two watches showed an identical fSry wwa &, Q=1 uf¥al veanr wwy @ 31 af 24
time. Which of the following statements is correct if the ¢ ¥ U2} &1 savv frar o &t Prufaf@a & | #1=-

24-hour clock is followed? (UPSC PT 2017) W1 Y T 82 (UPSC PT

pEm— s
a. The two watches show the identical time again on 2017)

completion of 30 days. a. 30 i35 & gof 817 W 3=t uf¥dal = vwww=
b. The two watches show the identical time again on g it 21

completion of 90 days. b. 90 f&=1 ¥ of 17 w= =Y ufdal 4=: vwwwE
c. The two watches show the identical time again on g i 21

Compistion.of 120 cuys., c. 120 f& & quf 1 = 31 uf¥al g=: vwwmm
d. None of the above statements are correct. g Zutd 21

d. Iea # @ 3 W sy w@ T8 B
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THANK YOU!



